Cones, Spheres, Frustums, Pyramids
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Rearranging Formulae

3
3
3
v = 4Tr
3
W o= oo
41
L 70
g
E’L“kpléf
9 FH/( \/0‘\)"\( o'g 9 F(-\.A (‘a.a(f.;s of€
Sf‘\e.rc "‘toAl’uJ (Ca-\ gf’\t’re wl’('k veo lone. IOOOC.,?
- /'3\/
\/ %'ﬂ/z r Z 3 4—_?.7_
'3 ——t
V= % x§ v = [3xie00
J a4 1T

= S 24 ce
r -



3 F\u\j CL& Sur(«ce o e o d'{ < S‘Fl\er(

el voluma. S000 cu.\g

r - 3/‘?/\/ = 3/%(3—000 - 10.6072% cu
41 &4 1T

ArvE

2
= 4= (pLor¥
= |14 s

\\

Sordace  Arca

4) F i A ’6,\6 VOIU*'~4 and -éo[—gl Cu/-chg_ AS e
of« sold Cona vadivs (em wad heiylt 12cn

* 2 2
(—. T + L

L
= 1LY 4144
= ({14
€ = (1ta = 13 cu
yqe
Vol = ’%"nle\ - ZITxS§ ylz = Y4 en”

Toé'u\ S'ur‘g«w_ arce = CvorveA S‘D‘A’—( LWa -9 A SaA-Q

Trl + T

A

2
TTAS >3 + Tx §

2.8365-\.3

1\

N




S) A Cone L\&f Volovue |ooo c--...? and
& l\:(g"\‘( ot [0 cm . FlA C¢ radius,

'2
\f = /'1T/ L\
3

3V = 1T"r N = /ZXIOoo
VI ot
ﬁ’f\ v = q.'?_) C
K4 =

7 -

EXQ/(.He

D '{:lﬂ(/( 6-L< VOluv-se oncA Su.r«@:..c( Sl
O‘(' c~ 5/9L</'Q ut\‘fh raliv

: Genm i) 2 m ) 6370 K

?-> F\nc/( kL( \/0‘09\( Amel é‘o’('qt ( (U"Cc'c< Qjc‘l
o e solid cone witl

l) /\{‘AIVS -7 en L\(ISL\(— Z_4.c._) S’BP,e le-—.j'él-\ 2§¢v-\

,l.i) fa:/(‘US 8C‘N L\((SZ-'— IS-CK/ S/dpﬁ lensﬁ\ 1—7Ch|.

, 4 3 3 3
t> SV A ZEaxl = QA0fF cu
J
SA. = anc® = gmxb = &2 e’



3
:9 \/: %»ﬂ/? = fﬂxz? = TI.85 wm

J
Sﬂ. ~ 4,77/1 = ‘4—7—"_%2‘L $0.3 HI

9 3 2
ru) V %ﬂ'/ - %’W%G??a = .08 x 10 Kn«.g

1\

dmrx60 - S.09 x ’08 bom ™

|

SAh = Aqar™

Z) N Vedalls daxts2a - 1232 en’

3
S.A.

2

1\

7T(‘( *ﬁ/1 :Wx7x2§-+’ﬂ—x7z = 70 e
iv) \/:':(;-ﬂ"il\ :J’;"'Txgz)"{ Z 00§ en 3

CA. <« sl 4 no> = GTxEx 1V 4+ TTx & = éZZc»\L




